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1.1 [bookmark: _Toc109296032]Correction to the function f_TC_7_1_1_2_1_NR_TestBody1
	Function name
	f_TC_7_1_1_2_1_NR_TestBody1

	Reason for change
	In the current TTCN implementation 

1) At steps 1-2 MAC PDU is sent with cs_NR_HarqProcessAssignment_Automatic. As a result, SS might pick harq id = 0 with ndi = x 

2) At Steps 4-5 , PDCCH is sent in such a way that C-RNTI is different from the assigned to the UE ; this step is also done with cs_NR_HarqProcessAssignment_Automatic. As a result, SS might pick harq id = 0 but with ndi = !x ( toggled from step 1-2 )
             But , UE will not decode this PDCCH and will not have knowledge about   the harq id and NDI used in step 4-5 as C-RNTI is different from the assigned to the UE

3) At Step 7 , MAC PDU is sent with cs_NR_HarqProcessAssignment(0) which makes SS to use harq Id = 0 and ndi = x ( toggled from step 4-5 ) . as UE has not decoded the PDCCH sent on steps 4-5 , UE will consider the MAC PDU  received at step 7 with harq id = 0 as Retransmission not a new data

	Summary of change
	At steps 4-5 , harq id = 1 is used , so that 
Steps 1-2 will use harq id = 0 ndi = x
Steps 4-5 will use harq id = 1 ndi = x 
Step 7 will use harq id = 0 ndi = !x 
further will use harq id = 1 , ndi = !x

	TTCN module
	MAC_TC_Common_NR

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_2_1_NR_TestBody1(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  {
    var RNTI_Value_Type v_C_RNTI;
    var integer j;
    var integer v_Nack_Count;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var NR_MAC_SDU_Type v_EncodedRlcPdu2;
    var NR_MAC_SDU_Type v_EncodedRlcPdu3;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var SubFrameTiming_Type v_TimingDL; //@sic R5s210725 sic@
    var B6_Type v_LCID := int2bit(p_NR_DRB_Id+3, 6); //@sic R5s211241 sic@
    
    timer t_Watchdog := 0.6;
    //configure SS for no Auto Time alignement
    //@sic R5s200009 sic@
    f_NR_ULGrantConfiguration_Common(nr_Cell1, cs_TimingInfo_Now, -, cs_NR_UplinkTimeAlignment_Stop);
    
    // Configure for indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    // @siclog "Steps 1 - 2" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//@sic R5s211241 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListDL));
    // @siclog "Step 3" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 3");
    t_Watchdog.stop;
    // store cell info parameters for C-RNTI
    v_C_RNTI := f_NR_CellInfo_GetRNTI(nr_Cell1);
    
    // @siclog "Steps 4-5" siclog@
    // Configure SS with a different RNTI than allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, tsc_RNTI_Value_Diff);
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//@sic R5s211241 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL));
    // @siclog "Step 6" siclog@
    alt {
      []  SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, (ack, nack)))
        {
          t_Watchdog.stop;
          f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6: UE is sending HARQ ACK/NACK when sent addressed to different CRNTI");
        }
      [] t_Watchdog.timeout
        {
          f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
        }
    }



After Change:
	function f_TC_7_1_1_2_1_NR_TestBody1(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  {
    var RNTI_Value_Type v_C_RNTI;
    var integer j;
    var integer v_Nack_Count;
    var NR_MAC_SDU_Type v_EncodedRlcPdu1;
    var NR_MAC_SDU_Type v_EncodedRlcPdu2;
    var NR_MAC_SDU_Type v_EncodedRlcPdu3;
    var template (value) NR_MAC_SDU_SubPDU_List_Type v_SDU_SubPDUListDL;
    var template (value) NR_MAC_PDUList_Type v_MAC_PDUListDL;
    var SubFrameTiming_Type v_TimingDL; //@sic R5s210725 sic@
    var B6_Type v_LCID := int2bit(p_NR_DRB_Id+3, 6); //@sic R5s211241 sic@
    
    timer t_Watchdog := 0.6;
    //configure SS for no Auto Time alignement
    //@sic R5s200009 sic@
    f_NR_ULGrantConfiguration_Common(nr_Cell1, cs_TimingInfo_Now, -, cs_NR_UplinkTimeAlignment_Stop);
    
    // Configure for indication of UL HARQ ACK/NACK
    f_NR_SS_SystemIndCtrlConfig(nr_Cell1, cds_NR_SystemIndCtrl_UL_HARQ(enable));
    // @siclog "Steps 1 - 2" siclog@
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//@sic R5s211241 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id,  -, v_MAC_PDUListDL));
    // @siclog "Step 3" siclog@
    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 3");
    t_Watchdog.stop;
    // store cell info parameters for C-RNTI
    v_C_RNTI := f_NR_CellInfo_GetRNTI(nr_Cell1);
    
    // @siclog "Steps 4-5" siclog@
    // Configure SS with a different RNTI than allocated to UE
    f_NR_SS_C_RNTI_Config(nr_Cell1, tsc_RNTI_Value_Diff);
    // PDCP SDU =36B +3B PDCP Headed+ 3B RLC Header + 2B MAC Header =44B=352 bits (an allowed TB size as per 38.523-3 Annex B)
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(1, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(1, crs_NR_PDCP_SDU_36B)));
    t_Watchdog.start;
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID, v_EncodedRlcPdu1) };//@sic R5s211241 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, -, v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(1))); //WA#WI=981964
    // @siclog "Step 6" siclog@
    alt {
      []  SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, (ack, nack)))
        {
          t_Watchdog.stop;
          f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6: UE is sending HARQ ACK/NACK when sent addressed to different CRNTI");
        }
      [] t_Watchdog.timeout
        {
          f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
        }
    }









